FMCWS-155F-HYD Series
Oasist, High Performance

WetSeal Technalogy

Hydraulic Motor Driven Centrifugal Pump

PRO 5 SERIES

—— = TR T

The Pro 5 Series has the same compact, close coupled
design that you have come to expect with several new
features to maximize life and reliability. E-coat corrosion
protection and larger bearings provide longer life,
Oasis™ Wet Seal Technology prevents run dry failure and
isolates seals from harsh chemicals. Interchangeability
of parts within the Pro 5 Series simplifies stock and
reduces inventory needed for field support.

PRO 5 SERIES
SPECIFICATIONS PERFORMANCE
Pump Specifications FMCWS-155F-HYD-206
Ports 220 % 200 Flange and 1-1/2" x 1-1/4"PT 100 Flow {Ipm)

Max. Flow

145 GPM ( 550 LPM) for 206 155 GPM (587 LPM) for 304

120 L
Max. Pressure 120 PSI (8.3 BAR) for 206 130 PSI (9.0 BAR) for 304 : % 4
| O O ey -, . | SO S ded 7
Construction E-coated Cast Iron ﬂmo E i ®
Seal Carbon ceramic / FKM & 80 pream 5 g;
@ 3
Shaft Stainless Steel @ 60 E 24 3
i ‘ : G
Bearings Sealed for long life & 4L 6.5GPMOIL Lo 38
Impeller Thermoplastic with Stainless Steel Hub o[ 5.8 GPM OIL 2
: . 20 e 5. GPM OIL 31
Wear Ring Stainless Steel r i E
(o S P L ITTREL P I i TS =
0 20 40 60 80 100 120 140
Motor Specifications o Flim_(gfm) o
Type High Efficiency Close Coupled Gear Motor | CURVE | ‘-2?-'-5-- —
: . |1 | esem [ ot |
Seal High Pressure Double Lip Teflon =5 SEGPM | 2200PM |
Internal Coasting Check  Prevents Damaging Pressure Spikes when Turned Off I SGPM_ | 19.0LPM |
Size -206 -206 PWM -304 -304 PWM
Maximum Flow 7 GPM (26.5 LPM) 9 GPM (34 LPM) FMCWS-155F-HYD-304
Maximum Pressure 2700 PSI (186 BAR) 2500 PSI (172 BAR)
N Up to 9 GPM Upto 9 GPM 200 i 400 600
_Bypass Needle (341PM) Notincluded (341PM) Notincluded T — T
Use on HYD Systems PC, LS, and OC PC LS PC, LS, and OC PC LS |8
Evtemal Reverse Chec v ’ ’ v ; 3
f=y | o
Hemalfeverse tec V2'ENPT  #I0SAE  T/2'PNPT #10SAE & [ SLE
. | 4]
Inlet Adapter / Restrictor v " . « g — 1 5
Body 1/2°FNPT , (80 ; : 4
Restrictor [nsert v x v x & b 11.3 GPM OIL Fo . ] =
Integrated 12V Proportional Control Valve and Pressure Relief Valve 2 I ;%QG%?AMO?LIL . \ 12
-206 PWM for use in Precision Applications using Pulse Width Modulated Lf==-— 8.8GPMOIL 1
T 0 o ST e S ST | I
control systems. %0 20 40 80 B0 g0 iz 4o s
Case Drain (Option) Available Not Available Available Not Available Flow (gpm)
Flow Limiter (Optional) LS-204N Do not use LS-206N Do not use [Camve | 3w

Available Models

FMCWS-155F-HYD-206 FMCWS-155F-HYD-206-PWM

FMCWS-155F-HYD-304

FMCWS-155F-HYD-304-PWM

0

200

500

300 400
R v

I

f

2
[ 3
4

109GPM | 41.3LPM

BBGPM | 333LPM

| 136M | a2slem |

| osePM | 375LPM |



PARTS LIST %

FMCWS-155F-HYD Series

DIMENSIONS
REF. # PART NUMER EDP# ~ DESCRIPTION REQ. gy e
1 |BACS3 41100 | Pipe plug 4 =
1141120 41120 | Pipe plug, stainless steel (optional) R e R 4 o)
2 {BAC-12-150-FLG-EC 40257 | Volute, cast iron, NPT and flanged, E-coated 1
32| BAC4-150 A5 f0xmgbodyssal o 0 TR B AN
4 |BAC-23-BSS 40393 [Nt 3/8NESS - 1
S |BAC-24-B-55 42702 | Washer, 3/8"SS, vibratian proof 1
6 {BAC-26-155-P 40453 | Impeller, thermoplastic, keyway 1 O ©
L R 72762 Bolt, 5/16"-18 x 1-1/4", socket head, 55 4 f
8  |BAC-16 45285 | Seal plate, cast iron, e-coated 1 =y .,:.—""
9 __4no7 41107 Bushing, #8SAEX1/4"FNPT,w/oing | 2
10 {41316 41316 |Airvalve, 1/4"NPT 1
TEBACTWS 40139 Sea,dualsedlasembly Type 21, 5/8"shatt | 1 _ v
12 {BAC-14-5-HYD ! 40288 | Mounting frame, cast iron, e-coated 1 LD ~2X @ A4
13 BAC42 | 40970 (apscrew,5/16"-16x2' hexhead e g 220 FLANGE MOUNTING
14 {ssest | 55851 |Sight gauge, 48 SAE, with o-ring 1| &1-1/2" NPT HORES
[ 15 (50150 : | 50150 | Pressure gauge, 0-160 PSI, 1/4" NPT (IRl |
L6 lames | anos [pug#ssabhechead 1] o oOFLANGE
[ 17 |BACS4 SR T e s kit 8 1- 1/4" NPT
E 18 §BA(H-33 Snap ring, internal, mounting frame | 2 ; ]
19 BAH32HD | 40385 Snapring extemal,shaft ik i N
20 faoss0 | a0 Being i 2|
|21 [BAC6-125-HYD-SS-WS ' 41581 Sha, 625 DIA, 125-155, 55, WS 1|
Lo (mcks | a0 Ky amangss 1
‘ 5255 | 40177 Sealsupportspacer(206) 1
LB s | e [SelspportspacrB04) 1
| BAC7S-HYD-206-PROS | 41329 Hydraulic motor, 7 GPM (includes 23, 26, 27,29, 31) 1|

|

| 24 |BAC75-HYD-206-PROS-PWM | 41290 | Hydreulicmotor,integrated PWM valve, 7 GPM ncuces 23, 48,25 17A,318) | 1
| 4B ;_EA( 75-HYD-304 |

L uc [BAcTs
% 3 _ |
26 [BACao-ssAE |
|27 IBACT8-8SAE

| 27A [BAGTBIONSSAE | 41462 |Reverse checkassembly, #8 SAEX#10SAE, w/Oring |

278 |BAC-78-10KT0SAE | 41467  Reverse check assembly, #10 SAE x #10 SAE, w/ O-ring

L1 | | 41448 |Ocing restrictor R
| A1456  Orifice insert, restrictor, w/ O-ring {206) (Do not use with 206-PWM) |

| 41381 Hydraulic mator 9 GPM lincludes 2
_T lydraulic motar, integrated PWM valve, 3G
1875 O-ing #8SAEfitting
41455 _{Body, restrictor oifice, #8 SAEx 1/2°NPT, w/ O-ring

| 41441 Reverse check assembly, #8 SAF x 1/2NPT, w/ 0-ring.

29 IBACT9T

| 29 [BAC79-B | 41447 |Orifice insert, estrictor, w/ O-ring (304) (Do ot use with 304-PWM) | 1 |
30 |1S-206N | 41418 Flow limiting valve, #8 MSAE x 1/2" FNPT (206) (optional) )
L 30A [IS304N | 41429 |Flowlimiting valve, #8 MSAEx 1/2" FNPT (304) optional) | 1 |

3141259 - 41259 Cap screw, 5/16"NCx 3-3/4" socket head, S5 (for 206 motor) 2

Lo las | 41263 | Capscrew, S/16'NC 6 sockethead, S5 (for 06-PWM moto) | 2|
; 3241330 B | 41330 Capscrew, 5/16"NC x 3/4" socket head, (for 304 motor) B 1 |
Lo e | 4 |Ovrnga0SAE L1
| "4 155032 55032 Barrier fluid, quart

@© | RK-FMCWS-PROS i ! 52728 | Repair kit, includes items 3 (2 each), 11, and 34 )
" |RK-BAC-75-HYD-L | 41374 | Repair kit; 200 series hyd motor with high pressure lip seal
| RK-BAC-75-HYD-300-L | 41362 | Repair kit; 300 series hyd motor with high pressure lip seal
* Not shown in parts diagram

Ace Pump Corporation - 1650 Channel Avenue - Memphis, TN 38113
www.AcePumps.com = Phone: 901-948-8514 - Fax: 901-774-6147

i “

Ref. A B C D

E F 6 H K

Inches 1072 3.13 263 525 225 394 975 6.03 150
MM 2723 795 66.8 1334 57.2 1001 247.7 1532 383
-206 -206-PWM
TRl 1 )
Inches 13.80 436 1429 404
MM 3505 1107 357.4 1026
-304 -304-PWM
Ref. | ] | |
Inches 1387 335 1526 4.04
MM 3523 851 3876 1026
3D Model Available

https://www.3DContentCentral.com/parts/supplier
/Ace-Pumps.aspx

Ace Form # FMCWS-155F-HYD
9/20



